Baseline 4h 8h 12h 16 h 20 h 24 h
Survival rate
Control group 10 10 10 10 10 10 10
TNFa-200 10 10 10 9 8 8
TNFa-600 10 10 10 10 10 9
pH
Control group [ 7.43 = 0.05| 7.46 =+ 0.03|7.48% + 0.03| 7.46 =+ 0.04| 747 =+ 0.02| 7.46 =+ 0.04| 740 =+ 0.05
TNFa-200 743 + 0.03| 743 + 0.08| 744 =+ 0.06|736" + 0.10| 739 =+ 0.06| 739 =+ 0.06(7.26™% + 0.10
TNFa-600 743 + 0.04| 748 + 0.04| 744 + 0.05| 741 =+ 0.06| 741 =+ 0.09| 744 =+ 0.09| 7.37 + 0.09
Base excess
Control group | 1.7 = 1.8 |-0.6% = 2.1 |-02% + 12| 1.6 =+ 18 |-12% + [8|-20% £ 23|-23% £ 20
TNFa-200 1.0 £ 24| -17 £ 2.7 |-74™ £ 37 |-68" + 64 |-58% + 41 |-72"% + 41 |-80™ £ 4.9
TNFa-600 1.0 £ 19| 01 + [8|-56™ = 36 |-56" + 32|-83™" + 3.7 |-7.6™ = 40| -62% + 4.2
Lactate [mmol/1]
Control group| 0.9 + 03| 06 += 07| 09 =+ 03| 09 =+ 02| 08 = 02| 07 = 02| 13 £ 09
TNFa-200 09 = 02|15 £ 04| 13% = 05| 15% = 05|13" = 03| 13% + 03] 1.6% = 03
TNFa-600 07 £ 01 (13" £ 02]1.6™ + 05|20 £ 05|19 = 0419 + 06| 23% + 1.0
Partial pressure
of oxygen [mmHg]
Control group | 83.6 + [2.8| 85.7 + [1.5| 979 + 164| 849 =+ 10.8| 941 <+ [53| 875 + 155| 848 <+ 170
TNFa-200 9.8 £+ 24964 £ 27| 111 + 37| 103 £ 64| 108 =+ 41| 107 =+ 41| 784 4.9
TNFa-600 843 + 19969 + [8| 110 = 36| 106 =+ 32| 115% + 37| 970 + 4.0 | 90.0 4.2
Partial pressure of
carbon dioxide [mmHg]
Control group [40.4 = 7.3 | 327 + 2.8 |31.6% £+ 33| 353 =+ 44 |31.1% + 31| 307 = 37| 37.6 4.0
TNFa-200 360 £ 4.6 353 = 94 [252% £ 38| 31.8 + 50| 297 + 42|275 = 45| 398 <+ I15
TNFa-600 362 =+ 581|322 + 3.9(27.0% £ 48285 + 3.7 |285% £ 50|275% £+ 32| 31.8 7.3




Cardiac Qutput
[ml/min]

Control group |92.3 + 63| 102 =+ 31.1| 105 + 404| 977 =+ 14.9| 106 =+ 23.6|136* + 52.9| 167* =+ 66.5
TNFa-200 82.6 + 162 71.8 + 31| 828 <+ 54| 985 = 10.1|131% £+ 31.4|134% + 155| 140% = [7.1
TNFa-600 828 + 96852 £ 201|769 <+ 20.2| 104 = 29.3| 108 =+ 25.7| 111 =+ 29.8| 139% + 22.3

Supplementary Table Survival rate, blood gas analysis and cardiac output: * p<<0.05 vs. Control group, # p<0.05 vs. corresponding baseline.

TNFa-200 = 200ug/kg/BW TNFa, TNFa-600 = 600 pug/kg/BW TNFa. Data are given as means + Cls



